¥ & —REIEEAN KIRKikBES
B H: 2023F3H18A(L)-19A(A)

2022 X2z

FEFKIRZAR

= 15 BARR7)—FT—IL(50m x 8L—Y)

zF
fEE Bt FERESD FRR FFE K £ g RE B &
FR | 50m ~ 10| 10 |/h4a | @R AN 32.10 32.07 4
9 |/h3 | BA mit | 3691 N
qoom [11 ~ 2| v s | g oweE [ 10553 | 10611 | 5
13 ~ 14| 13 | 1 FERE &BX | 1:05.82 o
200m [11 ~ 12| 11 |ns | s owE [ 22030 | 22042 | 3
13 ~ 14| 13 |H 1 FERE BX | 2:20.07
400m |13 ~ 14]| 14 |2 | B HExHE 5:08.45
BA | 50m ~ 10| 10 |/h4 | @R AN 36.99 3689 | 5 |
q0om |9 ~ 10|10 |ma | mH Am | 111745 | 11638 | 1
13 ~ 14| 13 |d 1 g EmW | 1:16.24 11
200m [13 ~ 14| 3 [t | mm mm [ 23712 | 2:3646 | 6
FLY | 50m ~ 10| 9 |/h3 | A REiE 39.95
11~ 121 11 |/h5 | B3 f£EF 34.65 1 1
200m [13 ~ 14| 1a |2 | @ me | 23218 | 2:31.16 | 2




BF

B iEEt FEED SR FE K 4 TiE R IELL HE
FR | 50m 10|l 10 |/M4 | Ik EW 32.95
9 |n3 | &5 |E | 3523 1]
qoom [~ 10| 10 [na |k mkes| 11063 | 11076 | 8
11 121 11 /b5 | E4K A 1:1045 1]
200m |11 ~ 12| 11 s [ ek ma| 22071 | -
15 18|17 |&2 | EA K# | 2:06.36
BA | 50m 0] 10 |/14 | Ik BEW 35.75 35.91 1
11 12| 11 /5 | IBE B3R 34.04 1]
qoom|  ~ 10| 1o |ma | T oEm | 11757 | 11773 | 8
11 121 11 |/5 | IBE &35 | 1:1204 | 1:11.64 4
15 18] 16 | &1 | Wik K# | 1:0467 | 1:0545 | 5 | |
200m [15 ~ 18| 16 |[&1 | ik xm | 21904 | 21004 | 2
BR | 50m 10| 8 |2 | BR H— 4417 N
q0om| ~ 10| 8 |[m2 | mR m— | 13383 | 1:3264 | 3
13 14|14 |2 | #HFE FKX | 1:1256 | 1:12.67 41
200m |13 ~ 14| 14 |2 | sk #mk | 24087 | 24037 | 3
FLY | 50m 10| 10 |/v4 | /Mk EXBEB| 35.52
11 12 11 |/ve | #ERT & 32.49 ]
q0om (11~ 2| 1n e | #ER & | 11036 | 11040 | 6
13 14] 13 | F 1 ® FEE 1:05.02
15 18] 15 |3 | A Bz | 1:0298 | 1.0375 | 8 | |
200m [13 ~ 14| 13 |wm1 | #% s | 22086 | 21937 | 2
IM | 200m |13 14] 13 | F 1 TR = 2:34.08 N
aoom 13 ~ | |wr | wxE [ | 51279 | 6




